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Instructions : (1) Figures to the right side indicate marks.

(2) Show necessary calculations as a part of answer.

1  (A) United Industries Ltd. projects that cash outlays

0f Rs.37,50,000 will occur uniformly throughout the coming
year. United plans to meet its cash requirements by
periodically selling marketable securities from its portfolio.
The firm's marketables securities are invested to earn 12%

and the cost per transaction of converting securites to cash
is Rs.40.

(a) Use the Baumol Model to determine the optimal
transaction size of marketable securites to cash.

(b) What will be the company's average cash balance ?
(c) How many transfer per year will be required ?

(d) What willb be the total annual cost maintaining cash
balances ?

15

15

10
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1

(B) Nevil Itd. provides the following information for its

product A & B :

Normal usage :

300 units Per/week each

Maximum usage : 450 units Per/week each

Minimum usage :

Recorder Quantity :

Recorder period :

For emergency

purchase period :

A-2400 units
B-3600 units

150 units Per/week each

A-4 to 6 weeks
B-2 to 4 weeks

A-3 weeks
B-1 weeks

10

From the information given above calculate the following :

(1)
(2)
3)
4)
(5)

From the following particulars of Mitansh Ltd., prepare

Re-order level

Danger level

Minimum level
Maximum level

Average stock level

OR

20

a cash budget for three months april 2021 to June 2021.

Particulars [Total sales Total | Manu.exp. [Adm.Exp.|Selling Exp.
purchases

February 21| 3,50,000 [ 2,20,000 75,000 20,000 14,000

March 21 4,80,000 | 2,60,000 60,000 20,000 22,000

April 21 4,00,000 | 3,00,000 55,000 20,000 20,000

May 21 3,60,000 [ 2,80,000 65,000 24,000 16,000

June 21 5,00,000 | 3,20,000 70,000 24,000 24,000
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Additional information :

(1) Cash sales is 25% of total sales. Cash discount of 10% is
allowed on cash sales. Amount of credit sales is recieved

in next moth.

(2) 40% of total purchases is on cash basis and 5% discount
is received on cash purchases, while dues for credit purchases

are paid in third month from the month of purchases.

(3) Time lag for payment of Manufacturing Expenses is
1/2 month, while that of Administrative Expenses is

1/4 month and for selling exp. is 1 month.

(4) Comapny has purchased 50,000 equity shares of Stars
Computer Ltd. each having face value of Rs. 1, at Rs. 50
per share in the year 2019. Prevailing market price of each
share is Rs. 120. Star Computer has declared dividend at
80% and paid the amount of dividend in June 2021.

(5) Quarterly interest on 8% debentures of Rs. 3,00,000 is
payable in April and July.

(6) An instalment of advance tax of Rs.22,000 will be paid in
State Bank of Saurashtra in April 2021.

(7) A cheque for Rs. 12,500 being amount of last year's income
tax refund is received in April 2021, same is deposited in
bank on 7th May but bank has credited Jay Ltd.'s A/c on
17th May.

(8) It is estimated that balance on 01-04-21 will be Rs. 87,500.
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From the following information of Nevya Ltd. 20
Balance Sheet as on 315t March, 2021

Particulars Rs. Rs.

Share capital :

20,000 12% Pref. Shares Rs. 10 each 2,00,000 -

30,000 equity shares Rs. 10 each 3,00,000 | 5,00,000

Reserve :

Premium 50,000 -

General Reserve 1,00,000 -

Profit & Loss A/c 70,000 | 2,20,000

9% Debentures - 70,000

Current Liabilities :

Creditors 70,000 -

Taxation 30,000 | 1,00,000
Total 8,90,000

Fixed Assets :

Building at cost 3,00,000 -

Plant and Machinery at cost 5,10,000

Less : Depreciation written off 1,50,000 3,60,000 [ 6,60,000

Investments :

Trading 40,000 -

Non-trading 10,000 50,000

Current Assets :

Stock 90,000 -

Debtors 78,000 -

Cash and Bank 2,000 -

Preliminary Expenses 10,000 [ 1,80,000
Total 8,90,000

DN-16080002040200 ] [ Contd...



Notes on Balance Sheet :

(1)

(2)

3)

Additions to original costs of assets necessary to
convert them to replacement cost :

Building........cccovveviiiiiiiieieeeeeee, Rs. 50,000
Plant and Machinery ............ccccceeeuvennee. Rs. 1,10,000

Cumulative depreciation on replacement cost of plant
and machinery would amount Rs. 1,86,000.

Obsolete stock amount to Rs. 2,000

Notes on Profit and loss Account :

(1) The Profit before interest and tax for the year 2021
is Rs. 1,06,200.
(2) Depreciation on Plant and Machinery charged was Rs.
52,000, depreciation based on replacement cost for the
year is ascertain as Rs. 62,000.
(3) Profit on sales of machinery .................. Rs.8,000
Recovery of Bad debts .........cccevuveennnnenn. Rs. 4,000
Goodwill wriiten of ........ccoovvviiiiiiininnininn. Rs. 6,000
Income from non-trade investemnts ........ Rs. 4,000
Calclate :
(I) ROR on Total Capital Employed
(2) ROR on Net Capital Employd
OR
2  Balance Sheet of XYZ Ltd. as on 31-3-2021 is under : 20
Liabilities Rs.| Assets Rs.
Equity share capital 6,00,000 | Land-Building 4,50,000
10% Preference share capital| 3,00,000|Machinery 3,00,000
General reserve 2,10,000]| Shares of subsidiary company| 1,00,000
Share premium 33,000 Shares of ABC Ltd. 50,000
Debentures 3,00,000] Stock 2,00,000
Creditors 26,000| Debtors 3,00,000
Workers profit sharing fund 4,000 | Bills receivables 1,30,000
Provident fund 30,000] Cash 40,000
Bills payables 24,000 Prepaid expenses 20,000
Bank overdraft 36,000 Debenture discount 3,000
Provision for taxation 30,000
15,93,000 15,93,000
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Additional Information :

(1) Revaluation price of land-building and stock is Rs. 9,00,000
and Rs. 1,75,000.

(2) Profit before tax and interest Rs. 3,68,000.

(3) Following items are included in Profit-Loss A/c.
(A) 10% dividend on shares of ABC Ltd.
(B) Loss on sale of machinery Rs. 2,000
(C) Interest on bank overdraft Rs. 5,000.

Find out ROR on Total and Net capital.

3 (A) A company produces 500 units at a variable cost of 15

Rs. 200 per unit. The price is Rs. 250 per unit and there
is fixed expenses of Rs. 12,000 per month.

For this question, calculate Break-even point in terms of
both units and sales. Also, show the profit at 90% capacity.

(B) For a compnay, sales are Rs. 80,000, variable costs are
Rs. 4,000 and fixed costs are Rs. 4,000. Calculate the
following :

(i) PVR
(i1) BEP (Sales)
(iii)) Margin of Safety, and
(iv) Profit.
OR
3  Following Data to M Ltd. are related 15

Particulars X Y

Selling Units (selling Price is Rs. 200 per Unit) 12,000 | 12,000
Fixed Cost 7,00,000 |5,00,000

Profit per Year 5,00,000 |7,00,000
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Calculate :
(1) Profit Volume Ratio
(2) Break-Even Point
(3) Variable cost

(4) The level of sales units at which both the products X and
Y will earn the same profit, then how many units are sold
of Products X and Y ?

4  Explain Management Control Strategy in detail. 15
OR
4  Explain : 15
(A) Target Costing

(B) Deifference between traditional and Government accounting
system.
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